CLASS-11

JEE - MATHS

TRIGONOMETRIC RATIOS OF ALLIED ANGLES
Allied Angle

For any angle 6,—6,90° + 6,180° + 6,270° £ 6,360° + 6 and so on, are referred to as the allied

angles of 0.
1. To determine the sign (+ or -):

Apply the original ratio and determine the appropriate '+' or '-' sign based on the quadrant rule.
In this way, ratios presented within the circle are positive in the corresponding quadrant, while

other ratios are negative in that quadrant.
2. To find the final ratio

(@) If there are values like m, 21 and so on, there is no alteration; that is sin remains sin; cos

remains cos etc.
T
(b) If;,

3m
2

is present, then there is a modification as indicated below:

sin = costan = cotcosec = sec

90° + 0

90° -0

180° -0 360°+0
sin

tan cos
cot sec
180°+0 270° +0

270° -0 360° -0
Sin 0 Cos 0 Tan 0
=(g —Sin© Cos 6 —Tan 6
90° -6 Cos 0 Sin © Cot 0
90°+ 0 Cos 0 —Sin 6 —Cot 0
180°—6 Sin 6 —cos 6 —Tan 6
180°+ 6 —Sin© —cos 6 Tan 6
270°—0 —cos 0 —Sin© Cot 0
270°+ 0 —cos 6 Sin 6 — Cot 6
360°—0 —Sin 0 Cos 6 —Tan 6
360° + 0 Sin 6 Cos 6 Tan 6

Ex. Find the values of the cos (-1710°)

Sol. cos (-1710°) = cos1710° [cos(-0) = cos 0]
= cos (5 X 360°-90°)
= cos (-90°)
=c0s90°=0
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